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SECTION - A
Analytical Ability
80 Doy 6
Questions: 75 (Marks : 75)
SEeo : 75 _ (Srgioye : 75)
(i) Data Sufficiency
Senc¥ mﬁd

Note: In questions numbered 1 to 20, a question is followed by data in the form of two statements
labelled as I and 1. You must decide whether the data given in the statements are
sufficient to answer the question. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines: 5 -

(a) Mark choice (1) if the statement I alone is sufficient to answer the question;
(b) Mark choice (2) if the statement 11 alone is sufficient to answer the question;

(¢} Mark choice (3) if both the statements [ and IT are sufficient to answer the question
but neither statement alone 1s not sufficient;

(d) Mark choice (4) if both the statements [ and I1 together are not sufficient to answer
the question and additional data 15 required. '

Srss: 1 S0d 20 565 adyS B B o8 B, o don 1, 1l 6 (e Mo Bot EREmes S8

dor el 2ot IPooTd. He ATCHS 808 Srsss BT edried (1) Sood (4) D00 78
o0l Eareiy JobE Datied.

(3) (D BRGS0 Fenett SiEDo [ BrERs Sorgiond 5 e (1) e 0G0l

(D) (e BETEEe Fuodu @SN Il AR $oPEeand Bo gz (2) 0 Hdoied;

() (St SErgrse FHomD Eusmen I, I $5h Sogton wotis’ 3 a8l Sra SoEo S
eares (3)m roGotied;

(&) 9y SITErRe FHPE ETwes 1, Il $8) Lrar 3o 5 whsy Geeso eT00008

erres (4) m oBodod;



le the product of the integers x, ¥ and z equal to 17
JrTesm &, ¥, 2 0 ego 1 £ SAPEST?

[ x+y+2=3 II. x>0,y>0,z>0

L

What is the radius of the circle circumseribing the triangle ABC ?

dgheze ABC %o 305yto 3% Sy gdngo Joi? ‘

I. ABC is a right-angled triangle II. The largest side of the triangle is 12 cms.
ABC &% sooSclah ©ezbeo ! Sanesd &b e heh e 12 Ro, .

Is AABC equilateral?

AABC Sversio [Seheair?

I ABsBC - °~ : II. |ABC =60°

For the positive integer x is the greatest common divisor of 150 and x a prime number?
e Qj‘qﬂﬁﬂ x3 150, xo mgmﬁﬁmwwm Mw
I. xiga prime number II. x<4

X wE PO Doy

If x and y are integers then 1s z an even integer?
X, ¥ €0 JrgosEd = 30 Jrgestir?
[ z=(x+y? - II. z=2x+ 8By

What 15 the area of the rhombus ABCD?
rio Dtadgeo ABCD Doy 20087

I. The length of the side AB 15 12 cms
gheso AB 2vey 12 2ok, =

II. One diagonal is of length 30 ems ,
e85 D5GY JEP 30 o, .

Isa+b=d?
a + b =d epdooo?

[. The averageofa,bandcis 6 I1. The average of cand d is 9
a b ceHbb c,doTrnd 9 ’

Are the lines L, and L, parallel?
tpes L1' Lﬂw s ?

[. L, and L, make equal angle with y =0
y=0& L, L, 335 50 S0

[I. L, and L, lie in a plane
LI. L= o 68 SSoBood’ o0

3 [P.T.O.



9.

10.

11.

12.

13.

14.

What is the digit in the units place of the integer n?
oo n ok, e ol Gy o8 387

I. n leaves remainder 17 when divided by 100
n D 1003 griotm Sy 30 17

11, » s divisible by 17
175 n o erfiodeddiood

What is the value of ?
x+48

[ x+96=0 : I x+4820

What are the coordinates of the point M?
Doy M D&rss8d?

[. Misapoint on the y-axis
Sodiod M, y-efcr aob

1I. M is a point such that MP is parallel to the r-axis, where P is (3, —4)
P (3, —4) woxsd Doty M, 550z MP x-05D8 SSroblon Gowin dod.
h
Ifa, b, ¢, d is a geometric progression what is the value of 2 ?
b
a. b, c, d o0 H6EAS dod = Do Jot?

I. The product of @ and d is 24
a, d v ego 24

11. The common ratio of the geometrie progression is 2
MOEEG DovRaarto 2

Does the point P (x, y) lie in the first quadrant?
Sotsdy P (x, ¥) 2o Fod® dotnos?

I. x+yz24 II. xy < -4

What.are the values of a and b?
a, b ¢ Doisdodcd?

I, a:b=T:8 >0 II. 2a:b=6:11, a=0



16.

17.

18.

19.

How many elements are m theset B={ne Z:f(n) <57
=lneZ:f(n)s5 & Iy JaTreTesTan?

L. Z s Zisgivenbyf(n)=12n-1| forne Z

oo B

f:
[Z=2Z030neZif(n)=|2n-1]rragos
F -

II. [: Z—> Zisonto

[:Z— Z doutio

Is the set E infinite?
520 E essobnr

1. E contains natural numbers II. E is the set of prime divisors of 1234567
E i35 Doggeto SOA &ob E 38 1234567 dlog), (5070 s0rTos o :vd
Is b= a? &
b > a wpitoo? ;
1. x+3is a factor of 25 — 27° I. x— 2is a factor of ¥* — 4a”
= 2728 x + 3 e¥ sCETOSo 2 —4ald x - 2 15 5ercto

What is the value of sin' 8 + cosec' 0?
sin' 0 + cosec! 9 Jews Jow?

I. em0O+cosecf=2

[1. sec*P=1+tan®0

For integers a and b is (ﬁ.i'- H,J_]i an integer?

a, b :;;fgc?@_@ (ﬂl +b7 ]é oS!

I. a'+ b’is an even integer

a® + b* o5 50Sops

1. &+ b%is equal to the volume of a bmt with d.imenmnns 12cm, 18cm and 125cms.
3 + b s posreres 12 Holu., 18 Mo, 125 ho.les 595 1Y I 38ree

What is the cost price of the item?
&3 SM3h Eay D0 Job?

. It is sold for T s at a loss of 10%
es SigPeo 10% 508 T s d el

[1. If it i= sold for 2 (s + 50) the profit will be 5%

ooy T (s + 50) 2 slod 5% orgo Big08 [P.T.O.



A

(ii)

(a)

Problem Solving (Marks : 55)
S80S
Data Analysis : (Marks : 10)
ser0¥ 350

Note for Questions 21 to 25:

21.

22.

23.

The following Pie-chart gives the percentages of various items manufactured by an
electronic company in a particular year. Based on this diagram, answer the questions
from 21 to 25.

&8 Do 5 Sokn 6.8 AP HoNECHG' BT (Giyd) B IDG voTe TBELeD: G B B350
(Pie-chart) Boopood. &1 Seri) esroom 5087 21 500 25 365 Ao (Sheh e S5od.

Major appliances (Egrs énstesoses : 40% 3 %% \
Computers

Computers Jo3rstat ;. 25% oty ‘\

Televisions S82e5 R

DVD Players &4 s0%oas : 10% - o comnig

Miscellaneous 3@a50e i 8% Y

e e -

If the company manufactured 3400 televisions and the manufacturing cost of a DVD player
is ¥3400, then money invested (in Lakhs of Rupees) for DVD players by the company is
o Sobe 3400 835 (5 ) 0% BaXrtihod, el A4 HBEYO &ty §5 &7, 3400 sond, &
S0 GG SOSCUR Btped bekd P, (ofe rdowed’)

(1) 60 (2) 62 (3) G4 (4) 68

If the company produced 12000 computers in that year, how many televisions it has
manufactured during that vear,

& Soll) & Nodintiod’ 12000 Soiyyeatiis Satrtdl, uwoé‘am‘;mnugmmﬁbm?
(1) 8160 (2) 7260 (3) 6360 (4) 5460

If 50% of the miscellaneous amount is ¥ 180 lakhs, then the total investment in that year
(in crores of rupees) 18

qaa:mgé‘,’:]m s’ 50% 180 ofe draraves sawd, & HoSttes" B Awio %m (5%
Srarolbe

{1) 35 (2) 40 (3) 45 (4) 48
If 10% of the major appliances cost is towards manufacturing the accessories and if the

total investment in that year is Rs. 32 crores, the cost of producing the accessories (in

crores of rupees) is
S5 asstetive $O° 10% Je6 3Daen Soxrds mtﬁm@ Deged o, 32
? )

5’&.}'_.3 B00SSPE, Do mwgwm{
(1) 2.66 (2) 1.28 (3) 0.64 (4) 0.32

6



A

95  The ratio of the number of computers produced to the number of DVDs produced n that

year 18

es 05By0S" BOLTH S0y gl RoPsE, A2A 3bsoe Sopgt e Jd
(1) 26:17 (2) 8:5 (3 52 (4) 54
Note for Questions 26 to 30:

In the diagram given below, the square represents women, the triangle represents
government service employees, the circle represents educated persons and the rectan gle

represents persons working in private sector. Each section of the diagram 1s num
Read the diagram and answer the questions from 26 to 30.

hered.

dob S0 e, G50 s Hbgd® aBiybeis, SyBo HOXYSIY Myoiio, B SBOH0
e Snah Do BesyTrow. & et B0 DerTol, e.8 Doy Serowodintcd. Be

eI a,mmaaummwamm.

gl

i1

26. The number of the region representing educated women in government service, 1s
Sg0os Shgs’ S het 1l F0%0 Ho
(1) 2 (2) 3and 6 (3) 4 (4) 6 and Y
3 5:00s 6 :

6 Soboin B

27. The number of the region that represents uneducated women who are in government

gervice and in the private sector is
s3e08s O S Y Sogedin 30D s fese 5ol (0o Howy

(1) 4 @26 (3) 9 (4) 12
28. The region numbered 10 represents
s 10D Srdoset po¥o
(1) Educated women working in private sector
SeS Soged® SU3D BERPDR Qe
(2) Uneducated men in government service
ey 3hg06™ BEPET PEsives
(3) Educated men working in private sector
535 soged’ SUDh SR Hoiped
(4) Educated men working in private sector and in government service
Q5heS ogosto, (@ens 9050w 308 Seopsy HEsee

2 [PT.0.




Iy

29. Region 2 represents
Bo¥e 2 &0 ardiyed

(1) Educated women without job
&S giodl SeoHHHH Hu

(2) Unedueated women without job

&80 82 5apsn hey

(3) Educated men working in gavernment service

EE0Bg H650S" 3D Dh BERHSHT Do
(4) Uneducated men working in government service
gt bud® DO Boms™n Mt
30. The region representing the educated persons without job is
w5l By Sgiyemic B0 del @ve

(1) 7 (2) 2 (3) 7and 2 (4) 8 and 9
700k 2 Boboin 9

(b) Coding and decoding Problems (Marks : 10)
§%Gef, ¢ §'30h soisen - :

Note for Questions 31 to 35

In a certain code the m™ letter of the English alphabet 1s coded as the n™ letter where n
is the remminder obtained when Tm + 5 is divided by 26, 1 < n < 26. For example, the
third letter C becomes (7 % 3 + 5) = 26" letter Z in the coded language. For decoding,
the reverse process is followed. Based on this information, answer the questions from 31
to 35,

Tm + 5 0 260 3rholisinuts 5T 9o #, 1 £ < 26 soiiiud, 3ohity v§05red' ms oDy s
E%S" n 5 eftor SE A0, doFtas e O, el (TX3+b) = 265uo Z i 6
e, & 5% Saved, B 965 Hlabis TEEM. & ST e Ssy, 31 wod 35
I e (PHoD e BNed.

31. The code word for ‘FRAME' is

‘FRAME' 2 §°E 5050
(1) TAMSO (2) TZKQM (3) UALEN (4) TZMSO

32. Which word is coded as ‘RNLKH"
93¢0 RNLKH' e §°€ Satado?

(1) MEALS (2) TRIMS (3) MEATS (4) TRAIN
33. The code word for ‘BUST 1s

‘BUSTS §°G a¢c

(1) SUGP (2) SVHO (3) SWIQ {4) TJHO



34. The word that is coded as ‘BLPY 15
‘BLPY ~+ §G Sabiad S¢o.
(1) GAIL (2) GAIN (3) RAIN (1) GARE

35. The number of letters that are invariant in this code is
&1 56 E'J’E:Ciﬂﬁ' SO0 LEUT oy :
(1) 3 (2) 2 ! (31 1 (4) 0

Note for Questions 36 to 40:

Based upon the following coding system and the conditions (i), (i1), (iii), given below answer
the questions 36 to 40. -
S BN 304% S'doh BSire Selake T dab q:;_):a @), (1), (i) Sptces ugoor JED, 36

i
'\-A}:"I-J 40 by T 1 A 120 \:"'L"'\--‘;.- NS 44.:3515: H

e

NumberSymbol |7 |3 |[&]6 |% |2 |# |[s|a]@[2]+]5]s
| Code ls |lH|P|w|L|D|K]J|X|Z|Q|T|N|F

Conditions:

(1) If the first element is a svmbol and the last element is a number, then the codes for
both elements are to be interchanged -
Dastied Borols 8.8 A, SN0 Saredo 8 Sopg sond, Toks Sarw0sY o ortbsrde Dalrd,

(ii) If both the first and the last elements are symbols, then the Iast element’s code is to
he taken as the code for the first element,
Toodie] Soboks DNO Maruses s seid, LBd Sorefo (o), T8 Juse Rurelo §'Em
tﬂ:b—a . -.-

(it)If the group of elements contain only one symbol, then that symbol 1s to be coded

ns A
NS Hareste ST “m.ﬁmmm..“qﬁhoej &3 Mo A & 8o A e 56 Dol

36. What 1s the code word for %82 & 477
‘%82 & 47 2 €5 5uc b

(1) LDJPXS (2) SJIDXPL (3) SJDPXL (4) LJDPXS

37. What is the code word for ‘@4153+' ?
@4153+' § 5'G bic 207

(1) TXQNHT (2) ZQXNHZ (3) TQXNHT (4) ZXQNHZ
. [P.T.O.

9



a8.

39.

40.

()

11.

42.

43.

45.

What is the code word for ‘4563147
‘45631# A 5°E B8c han
(1) ANWHQX (2) XNWHQX (3) XNWHQA - (4) XNHWQA

What 1= the code word for '3+5641"?
‘3+5641" A 5°E 3¢50 DA

(1) HANWXQ (2) QANWXH (3) HANXWQ' (4) HANWXW

What is the code word for ‘2@7§4&'?
‘QaT$4& 2 5°E 360 DHT

(1) DASFXP (2) DZSF}{F (3) PZSAXD (4) DZSXFP

Date, Time and Arrnngemant Problems (Marks : 10)
88, Toc, oS0 BSaSEs

A person facing East moves 30 meters towards East and then moves a distance of 80
meters North and later moves 30 meters towards East again. How far is he from the
initial point?

BTN eupen Gy oY 553 *"ﬂﬂ:i:?wbﬂ' 30 ety B &BGo 23 B0 Dokadhy $AD es) Bty

D DEF0 30 Dotsts Shercso, Dotk Hood ebaos Srdod® daomin?
(1) 80m . (2) 90m (3) 100m (4) 110m
80 2o 90 2o . 10025 110 2

After 1990, which vear has the same calendar as that of 19907
1990 STso, 1990 s @odthd SOAS Sodthdasd? -

(1) 1994 (2) 1995 (3) 1996 - (4) 1997

Five years back the ratio of a son's age to that of his father is 2:5. The present age of the
father 1s 50 vears. Then the present age of the son (in vears) is

D) 0D TSNOEE0 S50t HB Sog Sabiye D5 2:5. Bod S8 S0 50 SoBeopd
SETED (8 S0y (Rothdsned®)

(1) 18 (2) 21 (3) 23 . (4) 25

At 15 minutes past 5, the angle between both the hands of a clock is
5 fiotow 15 Dsodte BB0alrs e5 MSairdod™) Both Avese Bk S
(1) 72%° (2) 67%"° (3) 64° (4) 58%°

The denominator of a fraction is one more than twice the numerator. If one i1s added to

both the numerator and denominator the fraction becomes
L8 Disyod) 500, e Do g, odE TeloHesh 5l D53, e B0 Ag), 03, Fored 1.5 508

sy D5
H (2 3 ~ | 41
l}4 ) ”2' {}5

10
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46.

47.

48.

49.

50,

A

B is to the South-West of A: C is to the East of B and is also South-East of A while D is to
the North of C in line with B and A. The direction of A relative to D is

A 500 Baysr B; B £ 6raa@i 2000 A 5 sl 846" C aob. 37w D e28 C © &B0°5 dotar
A,B of Bhabon sodd D &ir s A oo, e ‘
(1) North (2) East (3) South-West (4) North-East

addo arty ' D& esTyeo

Five pei-snns A, B, C, D and E are in a row such that
D8 S0 A, B, C, D, E e 2.8 50:58" $ob dgor ey,

(i) B is not at any extreme end, (ii) C is in between B and E,
bascssrBém B, E o 5og); C e
(ii1)A 1s on the left of B X (iv) D is on the right of E
B 0 JG50008 A & E © 58335 D emy60
Then the persons at the extreme ends are
ESh & D00RE" Dol DS Noy BiEe0
(1 C,D (2) A E (3 C.E (4) A, D

The town P is located on the bank of a river. Another town A is to the West of P and a
town T is to the East of A but West of P. K is a town which is to the East of B but to the
Waost of T and A. The town on farthest West 1s

L5 58 2ot i dheo P. P © 56505 65,5 A e S0 08, P £ 363008 dobir A © Bty
B T e 569r30 Sob. K e 50 B £ 80t cioctioms T, A 053 3635008 &00. 5600 B i
BB EPtod’ &%) 360 -

mT (2) P (3) K (4) B

15" August of a year falls on Wednesday. Then what day is 2 October of that year?

£ Hosthtoss ety 15 eogepd, & Rodytiod” efndh 25 O o wHteh?

(1) Wednesday (2) Tuesday (3) Monday (4) Sunday
pudirdo Soofietrto o [ Tamgo's)

Ifa*xb= a(t+%+ﬁ+..,] fora,be N, b>1then2=3=

| |
abeN,b>leDaxb= ﬁ["";*"b—;"'--*]amm& 2+3=

(11 (2) 3 (3) 6 4) 8

11



A

(d)

Note;

Note:

ol.

b3,

Sequence and Series (Marks : 25)
oS, [@roes .

[n each of the questions numbered 51 to 65 a sequence of numbers or letters that follow
a definite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four given options to complete the sequence without breaking
the pattern.

51 = Donds mood 655 Tonth HED Mo P @ Fohe ::-:mam ™D, egores TR .5 (S50 8500000
s redisTom. (9 PRETHT d VR, 3RS T PUTe ol B8 Gowi e J5nED,
e Pobsras gl Sptholr Drtood. a

PRT:OPQ = GIK: ____ .
(1) EGH (2) FGI (3) FGH (4) FHH

2,6, 12, 20, , 42, 56,72
(1) 30 (2) 31 (3) 32 (4) 36

Reading | Knowledge ::
OSSO 1 TR0 1 :

(1) Swimming : Exercise (2) Pleasure : Playing
Balise : TR0 eDobo : &GLD
(3) Adventure : Touring (3) Working : Experience
TiTRe ¢ Hoplotiic SHRaRGo @ o
10, 100, 110, 111, 1000,
(1) 1001 (2) 1101 (3) 1110 (4) 1111.
AEF : BLJ : - OUV
(1) NOPr (2) MPQ (3) NOQ (4) NQR
120:60::24: .
(1) 3 (2) 4 (3) 5 * {4) 6°
121, 112, .97, 91, 86
(1) 99 (2) 101 (3) 102 (4) 104
4, 8, 12, 24, 36, 72,
(1) 108 . (2) 106 (3) 98 (4) 96
10, 30,150, 11550, 150150
(1) 1050 (2) 1500 (3) 1005 (4) 5100

12



(18]

61

62,

63.

6.

6.

Note;

'y y [#
e

66.

-1
o

TUW, VWY, XYA, ZAC,

(1) CDK (2) BDK
KNIP ; PINK :: ;

(1) TCA: CAT  (2) YOB: OBY
2. 10, 30, G8. .

(1) 96 . (2) 112

April : 64 ;: July :

e : 64 ;e

(1) 512 (2) T29

0, 14, 80, _ , 624

(1) 95 (2) 110

YXDCPO, WWFENM, UTHGLK,
(1) SRJINM" (2) UTJILJ1

{1) 43 : (2) 63
(1 16 {2) 25
(1) 13 (2) 21
1y L
T @ 9
(1) 24 (2) 121
(1) Fish 2) Frog
o oo

(Hr-1=0 (2) *-4=0

(1) Parallelogram
e a1 1) “jmd{-,m::

(3) Rhombus
0 Hatgymo

(1) 0.01 (2) 0,001

y 2 2)
) = @ 3

(3) BCE- (4) CDF

(3) DAER : READ (4) TIGRE : TIREG

(3) 130 . (4) 196

(3) 343 . (4) 216 ¢

(3) 205 (4) 255

(3) SRJ1JI (4) UTJINM

In questions 66 to 75 pick the odd thing out.
wocd T5 565 Ko Bed' H6Folb Hgotodn.

(3) 33 (4) 93
(3) 36 (4) 48
3) 48 . (4) 282
; 21 11
@) 1o @
(3) 720 - (4) 5040
(3) Crocodile (4) Turtle
o000 oriias
(3) 2-9=0 (d) 2-12=0
(2) Rectangle
&Q:.a;-:s@c
(4) Square
SHooEe
-(3) 0.0001 (4) 0.000001
o 17 3
T @ 3

[P.T.O.
13
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Section B
Mathematical Ability
Keds og 5B
Questions: 75 Marks: 75

(i) Arithmetical Ability (Marks: 35)
wosNeld riog g8 :

76. If a, b, ¢ are all non-zero such that 2t s gb= 6% thenc(a +b)=
a, h,cwﬁ‘bﬁwﬂﬂnarw,mﬁ:ﬂ:ﬁcm,c{a+b}=
(1) a 2) b 8) ab (4) a—b

77. Ifx+ 2y=19and 2x + y = 17, then the value of %Y ~ 4% i5
x+ 2y = 19 308cks 2x + y = 17 ssonod x°7 ~ ¥ gy, Jeos
(7 (2) 7 (3) 27 5
78. If the angles of a triangle are in the ratio 3:4:5, then the least angle 1s
e | GeheanE™ E'eres 3 : 4 1 § 208" dod wich SU S'rsn
(1) 36° (2) 45° (3) 60° (4) 72°

79, If 16x= — 24xy +ﬂ_-,rz:{}. then x:y =
].E-Iz- 2413""952:0@0;33.:::?:

(1) 3: 4 (B 4:3 (B 2:3 _ (4) 3:2
80, -2 =228 pna:bros
a-c¢ C b
—h—=u+b=a—mi§.ﬂ:b:c=
a-c [ b
(H1:-1:1 (2) 3:1:2 (3) 4:2: 3 {4y 3:2:4

a+1 1-a
81. Ifa= .2 + 3, then T . 5

l+a
a+l l-a
a= 2 + JFwod —— =
M V2 @ 43 3 1+2 (4) 1+43
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83.

(ul $8

81.

B89.

If x= 3 + /5. then the value of x* + 1227 + 3622 is

2= 3+ 5 woasd, e o + 1255 4 362 oy, Desd

4, (2) -4 (3) - 16 (4) 16

H C F of two numbers is 15 and their sum is 150, If both the numbers are greater than
15, then those numbers are :
Do Sog MAEY. 15, e 200 150. &+ Boths dopga 15 $08 14D wond & Hogge
(1) 45, 105 » (2) 60, 90 (3) 55, 95 (4) 30, 120

[f n = 847 x K18 a perfect square then the least possible positive value of K is:
847 x K &5 Ho3rg Sguoand eipth K dul), 505 $oris Jeois

(1) 3 (2) 5 ? (32): 3= (4) 11

The number of distinet prime factors of 8! is

8! dlous), 20 @ SdeFose Soy

(1) 3 (Z) 4 (3) B (4) 8

[f x> 2* > x* then a possible value of x among the following is

x> 2 > 20 ond, 51 BosHrDE" ressiE Joos

1 3
(1) -2 (2) =5 (3) 1 (4) 1-
Jun st 108 + 154 + Y235 =
(1) 16 (2)10 .85 (4) 4

_ j0 2 7
If the fractions 39 and 13 are expressed with a common denomination, then the least

numerator 1s

= X 4 %
yes Jr g v 3 0% Ry (2.3) Site Sotitar o°h e SR Do
(1) 117 (29 (3) 136 (4) 52

3433
The maximum of 33° .33 § 333% and 3*3 .
3 9 ;
33%, 3%, 3333 000w 37 o6 Mg

3
(1) 339 @ 333 3) 37° (4) 3333
[FT.O.
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A

90. The difference between compound interest and simple interest on a sum for 2 yvears at
the same 6% interest per annum is 2 36. Then that sum (in rupees) is

L5 Sogop 2 ROl g, SoNsyoal o Ben 6% & enciisd, B Htio 136 Liptucd. & Ande
(arSang’)
(1) 10,000 (2) 20,000 (3) 15,000 (4) 18,000

91. The length and breadth of a rectangle are changed by +20% and -10% respectively. Then
the percentage change in the area of the rectangle is.

L8 BF BBy Py, Jsbnod® ST +20% 20000 - 10% S0 SbwG . ekt « &g
SHE) Jeresiand’ Sy 5ty Fres.
(1) 15 (2) 18, (3) 8 ) 5

9. H % of 15% of an amount is ¥ 72, then that amount (in rupees) is
3
5308508 15 T8t dao;, 7 208 ¥ 72 sand ey e 2ngss (Grdoned’).
(1) 1400 (2) 540 (3) 360, (4) 640

3. A started a business with a capital of 2 6400, Later B jniIned the business with a capiral
of ¥ 8000. At the end of the vear they shared the profit in the ratio 6:5. After how many
months B has joined the business?

06,400 Lepwdd’ A Typdde G oofones. Hoks T8,000 2pudd oTrdcd’ B dow.
HoSgooBcd’ 70 gre Uipd 61 S soad, 3% Ree So B Tyrded' Sorda?
(1) 8 (2) 6 (3) 44 (4) 3

94. A person buvs an article with 15% discount 'nn its marked price. .He makes a profit of
15% by selling it at ¥ 3910. Then the marked price of the article (in rupees) is

B8 S ¥ S o0 @538 Jop 15% S%H% Siyca. ol T3,9100%0 ey, 15% gy
DeaFlmto. e & 5o B8 Jeos (erSraved®)
(1) 3,500 - (2) 4,500 (3) 4,000 (4) 4,200

95.  If the cost price of 20 books is equal to the selling price of 16 books, then the percentage

of profit is
20 9E%s0e £ Do, 16 R8s el Jo% S5 E50d G5 CRvBE ;

(1) 16 (2) 20 : (3) 25 (4) 32

irs



96.

87,

98s.

98,

A

A, B and C started a business investing a sum of money in the ratio of 8:9:10. After three

Y. 5
months B contributed another 3 ™ of his capital towards business while C withdrew

1
= th of hig capital after 6 months, If they get an annual profit of ¥ 2,37,300 then (s

5

share of profit in rupees 1s.
A, B, C oo 28cfols Trgrdod” Deyecoe 058 8: 9 10. 506 Doo Borgs B 8% 2uodsed Ltwedd’

1 : 1
3 9 Hotu edNon Ty, et Do o C 65 biyeds® 5 ©Hotois Sy, 7oL tod,

oo oo ¥ 2,37,300 woud wscd’ C oer (ardand’)
(1) 94,200 (2) 53,700 (3) 75,600 (4) 67,200

A, B and C started a business with some investments. At the end of the year, in the
profit, the share of B 1s ¥ 5000 more than that of A and C's share is ¥ 2000 more than B.
If the total profit is ¥ 1,11,000, then the share of C, in the profit in rupees 1s

A B, CoFeb amumﬂﬁ‘mﬁﬁﬂda @cfomu. ReSthTotoiics® B oer A Trerdod 3,000
et C?wﬂrm 2,000 wostor ephtr 2o ogio T1,11,000 wowd, woei‘{":ﬂ:-.r
(ardang)

(1) 39,000 (2) 37,000 (3) 38,000 (4) 40,000

A and B started business together. B's capital is ¥ 700 more than that of A. But B invested
his capital for 9 months and A invested for 10 months. If A and B share the profit in the
ratio 8:9, then the capital of B (in rupees) is,

A, B e 580 o @rSclionrto. B wepnd A Deodsod T 700 edko. ') B &5 2P 9 Doa
o, A 615 2égedd 10 Booomdh. DTl oficd’ 0 Tere T 8 : 9 wond B Deped

(Lrdang)

" (1) 3,500 (2) 4,200 (3) 4,000 (4) 2,100

Two pipes A and B can fill an empty tank in 6 hours and 8 hours respectively. After
opening both of them for t hours the pipe B is closed and the pipe A filled the rest of the
tank in 4 hours. Then ¢t =

Sotls Do A, Emuwﬁﬁm:ﬂ:mﬁﬁ;ﬂm B Notied® DotiNes. es Both Sodenr £330
ib&awtﬁomi}wBi};mwch MAEEQQW4MMDUM&HI:WL

B
M = @ 3 @ 3 @ =

17



Er

100.

101.

102,

103.

104,

05,

Two pipes can fill an empty tank in 36 minutes and 45 minutes respectively. If both
pipes are opened simultaneously, then how much time is needed in minytes to fill
tank?

Oodio Beipos e85 & &) SO 36 ZSasTres, 45 SRS Deperau, & Bodael 8 Tuod® G o
FOGer8 Ol et Beudiool?

(1) 10 (2) 15 (3) 20 (4) 25

Three persons can complete a work mdividually in 6 days, & days and 12 days respective
If all the three persons work together the number of davs required to complete the gar
work is

SRR S50 HADEM X 500 SEHT 6 Cleren, B S'ases, 15080k 12 Gpsnd® UG Saleds, s
8 200G Deien Yoi el 500 T8 Batots svsuhs S Rdog;

10 ! 1
(1) 3 (2) 3 (3) 3 (1) 4-:;

A, Band C can do a work individually in 20 days, 15 days and 25 days respectively. T,
complete the work fast. which of the two are to he assigned the work?

A, B 200 € v 2394 m &8 Dend BT 20 Sen, 15 Teses =005 25 Berod® Saneds, et
Mdd) 358 Scheha 2 308 e 320 Sihloirly

(1) AL B 2] B, C (h C,B ' (1) B alone

Beosnig
-

A cube has a volume of 128 em®, It is divided into 8 equal cuhes, Then the ratio of an edge
of a smaller cube to an edge of the original cube I8,
L5 R0 WNEhnreo 128 20l en g RIS IO RsSeAes, SIS Lty
Sodeld Soig sosun e And
(1)1:8 (2) 1:16 (3)1:2 1 2:1
The volume of 4 cube (1n cubic centimeters), whose total surface area is 384 square
centimeters, 15
384 5. 2o, t&fdﬁﬁﬁéﬂaao S0 2% Doisd Sunsetrms {308 ::adi.;mgé“}
(1) 64 (2) 512 () 128 (4) 256
The volume (in proper units) of the cone with » as the radius of the circular base and
having height % is A :

NV ay

h, Syorers o I S%i0 $o55) WLLESI e (8BRS o (35
e 5 5

SO SO sty

: 2 . ==
(1) 5 xr?h (2) -3—:”-2!: 3) 24 @ cnrth

18



106.

107.

108.

100.

110

(ii)

111

112,

A

If n is the maximum number of solid cubes with an edge of length 0.2 em that can be put
in a box whose dimensions are 1 cm % 1 em X 4 cm then n=

1 e.a. X 1 ok, X 4 e.d0. ::ﬂ:mmcsg::-s_ﬂlﬂeﬁ‘ﬂzcmhn oS ST JodiuTre NBGNe R
Ml euD, B B =

(1) 250 (2) 150 (3) 500 (4) 350
The lengths of the sides of a right angled triangle are in the ratio 3:4. The area of the
triangle is 726 square units. Then the length of the hypotenuse (in proper units) is

.8 voeSn PLhed) ghere D 3:4. e (Gg0e: Pwg0 T26 . CXTPDEN. e O S50 6 (@i
anardes’)

(1) 33 (2) 44 (3) 55 (4) 66

The ratio of the radii of two circular i:ylmd.ers A and B 1s 2:3 and that of their heights is
5:3. If the volume of the cylinder B is 27 m?, then the volume of the eylinder A in cubic

meters 1s.

Soth IS arred, A, Bo oydrgre Apd 2 : 3, ol Jige 254 5 ¢ 3. 3yde B unuodremo
27 0.8, m@ﬂaamwmm{mma&}

(1) 22 (2) 30 (3) 40 (4) 20

The number of elements 1n the set
= {n : n integer, 500 < n < 700 and n 1s divisible by 11] is

208 E = {n : ngrgoso, 500 < n < 700, 11 3 a SRem prichadntocs) 5’:‘.5 SaFesT Hods
(1) 63 (2) 45 (3) 108 (4) 18, '
If3*8 =y (mod 5) and 0 < r< 4, then r= :

3% = r (mod 5) o0 0 < r< 4 wond , o r=

11 22 - (3) 4 » (4) 3

Algebraic and Geometrical Ability (Marks: 30)

Desiieds, ergoBals riog 56

The statement (p — q) — p is equivalent to

(p = ) > p &3 EIDDI w0

(1) p (2) q (3) @ — pr ) p—>q

The contrapositive of the statement p — g

P = g ©d 35003 HH50B50

MEp=»qg @DEP-2-9 @ gopt 4) (~q) — (- p)

[P.T.O.
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A

113.

114.

115.

116G.

13,

1
Il the statement Y5 is rational and /3 is irrational” is denoted by p, then which
the lullowing statements represents ~ p?

i %s:é-a eSelak Sogy Wooate 3 edo soddan sopy o @SSl p § S0k, 300
ol I ARye0? .

(1) *1; is rational or /3 is irrational.

£¥ 650k Howy 8o /3 w8 sedan oy,

(2) - isirrational or /3 is rational '

©3 Sorah Sop Sor B o8 estcon o
(3) 7 s arrational or J3 is irrational

0.5 sorka Bogs 8o 3 z_ﬁmz-fouh"rﬁw&

& 1= rational or JE 1s rational §

b | o= ol | = 12 el Sl I N C R T [ T

&5 siordab Sogy So /3 a8 esorkan :::ciaaﬁ.

I the number of elements in the sets A, B are respectively 5, 7, then the number

relations that can be defined from A to B is.

A, B sl irese oPEED KR 5, 7. eowd, A Sod B 2 06:0es A Bouoge 1oy
(1) 27 (2) 212 (3) 2% (4) 25

1
If/: R = R is a function satisfying the condition 2 f (x) — 3{(;] =x" for any x= 0, then

(4=
1
R ool R2 D5 005eds o3 Shocko f, @b x= 08, 2 f(x) - 3{(;] = x? &3 Jwogisia Hobyn 505
s f(3) =
11 10
-3 (2) 3 (3) -3 5%

If 2 et A huae 8 elements, then the number of subsets of A having atmost 4 elements is
LG A D B areseiod] A adoos), h:a::umaxﬁ: AB2em 4 roTach duNibdve sogy

(1) 26 (2) 126 (3) 93 (4) 163

If @ straight hine is passing through the points (3, 3) and (7, 6), then the length of the
portion of the line intercepted between the coordinate axes is
w2008 U@ (3, 3), (7, 6) Cotspe Hootr Hpucd], e 80w B Jarss e H3gs 3% eoBl polio Iy

(L) 4/5 (2) &7 (3) 5/ (4) 714

20



118

119,

120.

121.

122,

123.

124.

The equation of a straightline whose slope i 1 and X-intercept is 4, is
oo | m 5OR, X-oottpoto 4 v fio 5ov B Slostne

(Dx+y+4=0" 2) x+y—-4=0 (3) x—y—-4=0 (4) x—y+4=10
The foot of the perpendicular of the point (1, 2) on the line 3x + 4y = 1 is
(1,2) Sotedpivod 3x+ 4y = 1 :5¢¢ S AN condrtic

w33 etFE ek =3 . (% 3]

cos 208° sin 238° + sin 152° cos 122° =

1 ok i
(1) 5 (2) :E * (3) T (4) 1
Ifﬂ{u,l.“;{%.m3[n+[3]=::‘am:isin{cc ﬂ}-—thentanzu—

5
D{a.ﬂﬁgém[a+lii=%.mﬂn{uwm Eﬁwﬁ,tanzﬂ:

56 33 16 i3

(1) 31 (2) % ; (3) = (4) 16

If x=acos6+bsinBandy=asin0-bcosh, then r* + y? =

x=acosO+bcos@ y=asinb-bcos 0 ocud 12 +y2=

(11 (2) a® (3) b2 . (4) a*+ b*
tan 10" + tan 50°
1-tan10° tan 50"
V341 -.E -1 I
m = 75 (2) 2 3) J3 (1) 5
A man in a boat rowing away from the cliff 150 meters high, observed that it takes

2 minutes to change the angle of elevation of the top of the ¢liff from 60 to 45", then the
speed of the boat in km/hour 15
150 2o 2830t &8 Bptio Sood ESon a8 BENE" ey 558 Baoo s, &3St 60° ol 45°

3 Srted 2 Dhosiras Saootio L30T oDty e SesS Ao, Moeto ﬂjfuwc.f'.
o (!
9-343 9+34/3
(1) ;’" (2) +;r (3) 9-3 (4) 943

[PT.O.
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A

125

126.

128.

129.

130.

131.

- If the polynomial — a® 3 — 2022 + bZc + 1 is divisible by ¥+ 1, then a — ] =

—at P~ %a® + by 4+ 1 &0 S8 x4+ 18 srfosedd a—1 =

(1) £ b (2) £2b (3) £(b+1)

(4 £(b-1)

A polynomial in x leaves remainders —1 and 7 when it 1s divided by x + 1 and x -
respectively. If that polynomial is divided by x — 2x - 3, then the remainder is

x & o8 oioBld x4+ 15580k x - 3 08" gy i) Fiiooen SN -1, 7. & oi3usa?d 22 — 2 -

& o B -ﬁﬁj 50

(1) =17 (2) -1 (3) 6

73X T4x T5x 762 14 3 grhY ot
(1) 0 (2) 5 (3) 10
The Bth term of the progression 162, 54, 18,5 in

162, 54, I8, ..... 325 8 5 560

2 2 2
3 {2) 3 (3) 37
The sum of the first 10 terms of the series L 88T ;
L35, 7. @636 2ce) 10 sr0 Boige.
(1) 75 (2} B0 (3) 100
I
The mefﬁcijnni. of x in the expansion of ( 3x? - E] 18
[312 - "I—) 2306:8" x tomo
2x
1y 22 @ —= @2
(L7 4 8
5 5
f2+30%= 2, a4,2" then D a,=
n=l} =}
5 i 5
(2+380= ) a.x" ool gb a,=
i n={) "
(1) 32 (2) 243 (3) 1024

2

(4) 2x+ 1

. If 73 x 74 x 75 x 76 is divided by 14, then the remainder is

(4) 12

T
@ 23

(4) 121,

@ —

(4) 3125



132.

133.

134,

135.

136.

137.

138.

0 1 O
[f:’&:L G]ﬂndﬂ=[ﬂ _I]ﬁthenAB+BA=

D - i -0
.a:[ ;L].Bz[n _Jama,mma:

R0
0 -2 1 0 00 10
112 i::-] @ (n —1] @ o o “@ [u 1]

If A, B are square matrices of same order such that B =_ A-1BA, then (A + B)2=
A, B oo a8 505560 Mo Bot 3r@Sen. 8 B = — A1 BA edlgtod sy (A + B)2 =

(1o (2) A+ B (3) A% + B? (4) A2+ 2AB + B?
Lim x**-x '

a—l JI -] s

(1) 1 (2) 3 (3) 4 (4) =

Lim' 1P +2%%. wnt
1—Fra0 ]'II
1 1
(1) 0 (2) 2 (3) 3 (4) 1

_ dy
If 3x* + 2xy + 3* = 6, then [.E)t-l,n:

dy
3x2 + 2xy + y% = 6 wowd, [EJIH\;IE} = ;
(1) -1 (2) 1 (3) -2 (4) 2
The derivative of tan~! (+* + 1) with respect to xat x= 2 is

x=25¢ xoyx; tan ! (¢ + 1) dwg, ussens

2 3 1 1
033 @ 55 @ 13 s
H
A/T—,\
D [

In the above figure if ZABC = Z/BDC = 90°, BD = AD, then #BCD =
» 5008’ ZABC = ZBDC = 80°, BD = AD woxd, /BCD =

(1) 30° (2) 45° (3) 60° (4) 75°
(PT.O.
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139,

140,

If two circles of radii 5 em and 12 em touch each other externally, then the distance
between their centres (in centimetres) is -

5 wo.e., 12 hodo. @ﬁqmm o Oodls SyEre ermom &) yiotieSod, Td icpre Bagss Srdio (Taced
mess’)

(1) 13 (2) 17 (3 7 . (4) 12

The area (in square units) of the polygon whose vertices taken in order are (0, ), (6,0),
(6, 6), (4, 4) and (0, 6) is

(0, 0), (6, 0), (6, 6), (4, 4), (0, 6) ot .5 wTagbEd 5o Brocsd, & wirghe PTope (S66y
obrated’) ;

(1) 24 (2) 26 (3) 30 (1) 36
(iii) Statistical Ability (Marks: 10)
141. The mode of the frequency distribution given below is

142,

143.

144,

200 BRIV 5 HEPEDD e Y5

' x[1] 2] s[4l &s[ 6] 7] s
L7 14| 9] 16]25] 22| 15] 7] 3
(1) 4.5 @) 4 @) 5 (4) 5.5

The geometric mean of the observations 2, 4, 16, 32 is

S68e30s 2, 4, 16, 32 0 MorSaEe |

(1) 4 (2) 6 (3) 8 (4) 10

The median of the observations 7, 8,7, 9, 7, 14, 15, 6, 8, 14,9,17, 15, 1618
383000 7,8,7,9,7, 14, 15,6, 8, 14,9, 17, 15, 16 o Sugigiso

a7 (2 8 (3) 8.5 4 95

If the mean and mode of a data are 45 and 51 respectively then the median of the data is
&3 CEo¥o dlwl), wostaditioo Hobol erdueEtne SO 45, §1 sond, sl Sero¥o
G50

(1) 46 (2) 47 (3) 48 (4) 49

24



145,

146.

147.

148.

149.

150,

The quartile deviation of the observations 80, 48, 60, 92, 50, 35, 70 is

Soiuien 80, 48, 60,92, 50, 35, 70 & B¥cross seiso

(1) 10 (2) 12 (3) 14 (4) 16

If o is the standard deviation of the observations Xy, X, x, then the standard

deviation of Gx, + 7. By .7 5 Sx, + Tis

080 Xy, Xy, ..., X, 6 EHIDOS0 & GoxD By + 7, Bxy +7, ..., 5x + To @5 Diieso

(1) Ho+ 7 (2) Jyosa? a7 (3) S0 (4) bo + J7

The variance of the numbers 87, 88, 89, ... 98 is
Sopyes 87, 88, 89, ..., 98 0 216

[143 .. [843 143 843
e SrEe \{:1? ® T2 T

If two unbiased six-faced dice are thrown simultaneously then the probability that the
sum is 8 with at least one die showing a prime number is
Cot SRS esdonnogre roters Diseon T8 el Doolio B epiic wotd £i50 sl EPESops
esailo; SR
1 el 1 1
3 @ 3 (3 7 HJ. s
S

! 1
If A and B are events of a random experiment with P (A) = 5 P(B)= 3 and

1 e
PAnB = F thenP(4~B)=

1 T
OE CIE) T BArNeS totes A, Bas P (A) = g— P(B)= 3. P (AN B) = - eclypnod

SIS P(A~B)=

B g) o1 g o2 gy
D @ 53 ) 52 4 53

A group has 12 men and 4 women. [f three were selected at random from the group then
the probability that they are all men is

12 2000 e, 4 M0 e Mo ¥ S5ririasos. Sa HITORI00 IS0 SaKssd Joss
008, oGt Haped; Hogrs

. ¥ 11 5 2
M 5 @ > @ 5 @ 5 o
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A

SECTION - C
Communication Ability
Questions: 50 Marks :
PART -1
Choose the Correct Answer:
151. Short term advance provided by a bank to a ¢urrent account holder is called
(1) Demand Draft (2)Hand loan (3) Over draft (4) Margin money
152. The organization which enables multilateral trade among countries is called
(1) World Bank (2) World Trade Organization .
(3) United Nations Organization (4) International Court
153. The advent of mass production is ascribed to the period of
(1) Second World War (2) Internet era
(3) Copper age . (4) Industrial Revolution
154. 10 year Redeemable Bonds means that at the end of the stipulated years the Bond
(1) is written off (2) amount is paid and settled
(3) gets converted into shares (4) can be pledged in a bank
155. Market value of Mutual Fund is expressed as
(1) Rupees per share (2) Rupees per script
(3) Gross value in rupees (4) NAV in rupees
156. A coaxial cable to which a number of m;mputers are connected is known as
(1) Multistrand wire (2) Jelly filled cable
(3) Ethernet (4) LAN

1567.

158.

159.

160.

The system of transforming data into codes that are meaningless to anyone who doe
nol possess the system for recovering initial data is

(1) Crvogenic (2) Modulation (3) Quantization, Cryptography

An electronic device that allows a single communication channel to carry
simultaneous data from many terminals is called

(1) multiplexer (2) microprocessor (3) modulator (4) expert system

Compared with a manual system, in a computer system
(1) basic internal control objectives change.

(2) the methodologies for implementing control change.
(3) control objectives are more difficult to achieve.

(4) internal control principles change.

The logical organization of data in a database is called
(1) structure (2) schema (3) algorithm (4) legacy

26



PART-11
Choose the Correct Answer:
161. A: “Why do you always behave like a dog in the manger?”
B: “I don't know. It's just my nature, I guess.”
‘A’ implies that ‘B’ is
(1) a spoilsport (2) rude (3) aggressive (4) uncouth
162. A: “Would you like a cup of coffee?” '
B: “If you say so."
‘B'is
(1) indifferent  (2) eager (3) casual (4) pleased
163. A: “I saw red when he put the blame on me."
B: I understand you weren't driving the car when the accident happened.”
‘A’is
(1) angry (2) annoyed (3) furious (4) resentful
164, “The man was a square peg in a round hole.”
The speaker implies that the man was

(1) a loner (2) a recluse (3) a misfit (4) a bore
165. The passive form of the sentence “She saw you and him,” is
(1) You and he were seen by her. (2) You and him were seen by her,

(3) You and him had been seen by her. (4) You and him were being seen by her.

166. Kamala: “Look.would you mind very much if 1 went out for a few minutes to make a
phone call? Tt is rather important.”

Krighna: “No, you go ahead.”
Krishna's answerimplies that he is ;
(1) angry (2) understanding (3) frustrated (4) apologetic

167. “Brooding over past failures, he decided to commit suicide.”
The sentence implies that

(1) suicide was dear to him.

(2) his failures were broad.

(3) one should erase all memories, good or bad.

(4) the thought of his past failures led to his decision.
Fill in the blank with the appropriate phrase / verb / preposition :
168, our advertised programme, we will be showing a film.

(1) In regard to (2) In spite of (3) On behalfof  (4) In place of
[PTO.
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A

169. He has five children _ on his meagre salary.

(1) to look after (2) to look at. (3) to look to (4] to look for
170. Live YOUur means.

(1) without . (2) within (3) from (4) on
171. you change your mind, let us know.

(1) Could (2) Might (3) Would. (4) Should
172. 1 five languages.

(1) know (2) am knowing (3) known (4) knowing
173. He was desperate ____ a job,

(1) for (2) on (3) at (4) about
174. He me at chess yvesterday.

(1) het (2) beat (3) bait (4) beat-up
175. Their house is hidden the trees.

(1) among (2) hy (3) with (4) between

PART - 111

Read the following passage and answer questions 176 - 180:

Philosophy in the East is an art of life and way of living. The proper aim of philosophising,
according to the Indian mind, is not to obtain knowledge for its own sake but for the sake
of making life better. Philosophy in the soil of India is a personal attitude towards life
and the universe. To philosophise is not merely to read and know philos ophy; it is also to
think philosophically, Philosophy begins in wonder, doubt and curiosity. It grows out of
our developing awareness of the problems of human existence, Philosophy does not
shrink from facing the difficult and unsolved problems of our life. There are certain

perennial problems which interest mankind and for which philosophers

answers. Philosophy is primarily concerned with the soul, God, immort
knowledge and similar other problems, which again owe their solutions t

have sought
ality, world,
o the proper

estimate of life. Many questions, however, have been answered only tentatively, and

many problems remain unsolved.

176. What is the aim of philosophy in the East?
(1) learning * (2) self-realisation
(3) material gain , (4) professional advancement

177. How does ane become philosophical?
(1} through reading (2) through discussion

(31 through writing (4) through knowledge of the complexities of life '
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What is the meaning of ‘perennial’ ?
(1) momentary (2) everlasting ~  (3) temporary - (4) short-lived

179. How can problems be solved?

180.

(1) by proper evaluation - (2) by meditating
(3) by acknowledging them .(4) by transcending them

Why is the study of philosophy valuable? ;
(1) It adds wisdom to one’s life. (2) It deals with spirituality.
(3) 1t deals with the problems of life., (4) It provides answers to all problems.

Read the following passage and answer questions 181-185:

181.

182,

Although languages have come into existence and died away throughout human history,
it was only in the 1990s, féllowing the publication of a series of worldwide survevs, that
people began to notice that the rate of disappearance was significantly increasing. The
thrust of these facts is easy to summarise: of the 6,000 or so languages in the world, it
seems probable that about half of these will disappear in the course of the present century.
It is a rate of loss unprecedented in recorded history.

The impact of dominant languages on minority languages is a matter of universal concern,
and the role of English is specially implicated. The growth of English as a global language
is not the sole factor in explaining language endangerment. Although 1t is English that
has been the critical factor in the disappearance of languages in such parts of the world
as Australia and North America, this language is of little relevance when we consider
the corresponding losses that have taken place in South America or in many parts of
Asia, where such languages as Spanish, Portuguese, Russian, Arabic and Chinese have

replaced local languages.

Languages die. A language lives on, after the last native speaker dies, only if' it has been
written down or recorded in some way. At the turn of the millennium. some 2000
languages had still not been documented. When one of these languages disappears, the
consequences are truly catastrophic. When people die, they leave signs of their presence
in this world, in the form of their dwelling places, burial mounds and artifacts - in a
word, their archgeology. But, spoken language leaves no archaeology. When a language
dies which has néver been documented, it is as if it has never been.

What is the author’s view about the languages of the world?
(1) People are unaware of the dying languages.

(2) People were unaware of the dying languages.

(3) People have been aware of the dying languages*

(4} People thought that languages did not die.

What will happen by the end of the present century?
(1) The number of languages will be 3000.

(2) The number of languages will be less than 3000.
(3) The number of languages will be more than 3000,

(4) The number of languages may be about 3000., PT.O
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183.

184,

155.

Which of the following statements is true?

(1) A language is not documented by the native speakers,

(2) A language continues to live if it has been documented.

(3) Native speakers do not allow other languages to dominate their language.
(4) English has dominated all languages in the world.

What is the disadvantage of spoken language?

(1) It will certainly die, '

(2) Tt cannot survive the onslaught of other languages.
(3) It leaves no trace when it dies.

(4) Native speakers find it difficult to remember it.

What does ‘catastrophic’ mean?
(1) Causing a lot of damage (2) Causing a lot of anger
(3) Causing a lot of annoyance (4) Causing a lot of disturbance

Read the following passage and answer questions 186 - 190 :

186.

187.

188.

So now let’s talk about how discipline relates to self-esteem. In studies of chilc
Coopersmith found that power and witholding affection were associated with chil
who demonstrated low self-esteem, but management techniques were associated
children who exhibited high self-esteem. So it seems that parents should use phy
punishment and witholding of affection with caution, right? Well, most psycholo
oppose physical punishment for children under the age of 2, and some psycholo
believe that discipline should be achieved without any physical punishment for chil
of all ages, referencing the fact that discipline means ‘o teach’' whereas punishn
means ‘to harm’. Anyway it's generally agreed that reinforcement of good behavio
more effective than waiting for bad behaviour that requires punishment. But w
discipline is necessary, setting limits with negative consequences that are consiste
enforced seems to promote healthy development of self-esteem in children, espec;
when these management techniques are supplemented with approval, attention,
affection. I mean, when parents try to catch their children in the act of doing sometl
right and use that as a basis for positive reinforcement of their behaviour.

The study of Coopersmith found that low self-esteem associated with children is du

(1) enforcement of discipline (2) power and witholding of affection
(3) teaching process (4) management techniques
Physical punishment for children below the age of two is opposed by

(1) all psychologists (2) some psychologists

(3) most psychologists (4) all parents

To “discipline’ one, one has to

(1) punish (2) harm

(3) teach (4) eatch the children doing wrong
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189. As against waiting for bad behaviour that réguires punishment, one is advised to
(1) teach good behaviour (2) reinforce good behaviour ’
(3) set limits for negative consequences (4) shower affection

180, To help healthy development of self-esteem in children,
(1) discipline is not necessary.
(2) punishment is to be avoided tﬂtallg,
(3) teaching is enough,
(4) use positive reinforcement when they do something right.

PART - IV

Choose the correct meaning for the word given :
191. haggard

(1) exhausted  (2) worried - (3) sad (4) gloomy
192. expedient

(1) appropriate (2) advisable ~ (3) quicken (4) dismiss
193, stalemate

(1) movement  (2) standstill (3) attitude (4) accustomed
194. gingerly .

(1) carefully (2} made of spice.  (3) lightly (4) quickly
195. trill

(1) fall (2) run, (3) cut (4) sing
196. pecuniary _'

(1) relating to money , (2) relating to odd behaviour

(3) relating to diseases (4} relating to attitude

Fill in the blank l:hb;sing the correct word :

197. During the Emergency, the Prime Minister —_any opposition by implementing martial

law.

(1) postponed (2) pre-empted (31 defied (4) greeted
198. The marathon walk lasted for ten weary hours.

(1) gory {2) grand (3) gruesome. (4) gruelling
189. The van and the car head-on in the dark.

(1) collided (2) colluded (3) collated ; (4) collocated
200. We face the prospect of still higher unemployment.

(1) grimy (2) grim (3) grilling (4]  garish
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